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INSTRUCTIONS

1. Do not open.this booklet until you are told to do s0.

2. Follow carefully the instructions given at the beginning of each set of
questions.

3. Do not waste time. If a question is difficuit, go on-to":ih_e next one.

4. You are allowed 1 heur 15:mins to answer all the.questions. . -
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_SECTI.N A(20x 2m)

- .Choose the.correct ansiuer-

prowded

1. The digit8 inB8Estamdster__

(1) 8

(2)
(3)
. @

2, %ﬁaﬂ;&r&‘ﬁtefgsﬂand%m dﬂeds isthe.samesag: ,

(1)
2)
(3)
(4)

80
82
800

246
264
462
642

3. 52 34::399: — ‘ I
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923
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Sarah, Celine, Paul, James-and Siti received’ Vs starseaap
How many stars dt@lxtheﬁehﬂdren receiverinsali?

fede Yed Yoo Yeve e
el el ol el ok

(1) 4+4+4+4

(2) 5+5+5+5+5

(3) 4 groups of 4 . ' S
(4) 5 groups of 4 | - ¢

Divide 45 by S-andtheansweris

(1) 5
). 9
(3)y 40 x .
(4). 50 ' ( )

Studystire:modelssbelow. Whatds:the -answerir.ihe.box?

- T
Ali — e
Ben
4 l 2 >
(1) 70-28
2y 28+70
S (3) 28+28+70 )
(4) 28 +70+70 O )
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Schodl (<

- ﬁﬁmﬁé&walkgfrﬁnrhmne«terseheamadathen,ﬂmath&eb@o}&ggpp__ .

“-\Whatdistrestotat-distanca.she walks?:

- (1) 230m

(2) 240m
(3) 850m - : _ , _ -
(4) 950m . . o | (

Wh-ch of the fBIBWINY fidsthe: greaf’é‘s‘f FEE?

L |

i 9 hundreds 3 ones ::N:‘r 3 hundreds 9 o.nes

A B
93 tens ) [l 3 hundreds 9 tens
(1) A
2) B
3) ¢
(4) D o)
4

£


Tan Hui Min
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590 m
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360m


)
(3)
(4)

124
388
398
412

1iﬂnesiessmaﬁ4hﬂﬁ“dféﬂsfﬁ SRR

10. Subtractg:te As ffrérﬁf@@f’%?Fhe*’aﬁswer 15,

1y

@
e

(@)

500
770
797
803

1.

RON
@ .

(3)
4

286
396
644
914

# '3 huridrads 14-ones =600

12, Metherbakea2o0Eiptakes.

AGTAPCERSsgotbumt.andishe.gave149-cuptakes-to.MdnrSalman.

How many cupcakes had=shedef?

(1)
(2)
(3)

(4)

32
42
130
168

/_f,f



How lml.gb n“o-aeg'iﬁeﬂ*-f"

(1) $10
(2) $12 |
@ s - | o

14,

15.

meﬁn‘f"sﬁ eiérs E‘m‘:ﬁf he ma&h ave-left?

->Staﬁy~¢he -madel, bejowWha’e 1&m& answetin. the oval?

A

1y 2

2y 27.
(3) 32 -
(9 42 . ¢

ameas Z“ﬁtgrt number: between 15 and 25.

“MFOnes’ d!git is-greater than; my: tens-digit.

Fhe sumrof my digits-is-o:

S NREETamDeErany 17

(1) 16

(2) 17
(3y 23 ’
(4) 24 ¢

L7



16.

17.

8.

ghe'baﬁyhta;dresv for-$190,and-a-haf mdbag for $76.
Howmuehrehange did-she-reeaive?

)

(2)
(3)

@)

‘The answer to Card

_ 68 + 900
Card A
(v A
2 B
3) ©
(4) D
' Mertﬁé’r ﬁ’éfﬁ*‘isﬁﬁﬁ

$260
$300

- $370
$490

gives the smallestevermmnmiiess

[ 29 + 900 |

Card C

92 + 900

‘Card B

There are: %hmkens’ aﬁd #=gows in a farm. '
How many legs-de- thie ammals mthe farm haver aitogetkrer’»"

(1)
(2)
{3)
(4)

16
b
34
36

86 + 900

| Card D

sr3



..'1'9..

20.

7><.

@ x .:[:

The answer in the box i5

(1) 21

@) 16 |
@ 8 . | | L
(@4 4 - RO

Study the lines below.

; ~ Line A
\/._ \ Line C

Which of thefollowing statements.is trug?

R

(1) Line Cis the longest. -

(2) Line Bis the shortest.

{3} Line C is shorter than Line B but longer than Line A.

(4) Line B is longer than Line C but shorter than Line A. ( 3

-]
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SECTION B (213 x 2in} - _
Do these sums and show your workmg»ctearly o
~ Write your answessimsthesboxs "

21. Write 649 in words. :

22. -5dens«Btones. =

23. -Dividethes

ﬂﬁniﬂg&graups -0f:be

gy ey %?f%;?f
%% Gkl

24, 4 X 9 =20+

V4
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emand-had:29-shesprief.

. -
= .
-

-y

26. Study the madel below. Thenfillin the answers'in the circles
provided. ' '

- Nathasdboxesoftoy-ears:
In-eachrbox;thergrare-i2:tay:ears.
.. Nathas-48-toyears-altogether.

4

LS



- 27. The length of Arrowzr'-“'ﬁ;?fis : -_cm shorter thanArr@wB

LI O B B B

—

Arrange the numbers in order. Begin with the blggest number.

D.

—_— e 7 JR—

29.  Form the largest 3-digit even number by using the digits 4, 3 and 9.

=7



30. 7 hundreds Bones = ____-104 -

e

31._' * Fill-in the missing numbers.

'32.  Jack and Mary share some money.
Jack has twice as much money as Mary.

if they have $24 altogether, how much does: Jack have‘?

12




33.

Work out the story sum,

' Flil in the answers in the ovals prowded in the mednl

My Brown has 250 books.

He has 36 books less:than Mr Samy. |
*How many books does Mr Samy have? - °

4
(\ |
)

Study the modet below. Then fill in .the'-nu_mber- sentence.

Chris had 50 beads.
She decided to share them equally with 4 of her sisters.

How many beads did each of them receive?

i3



@ Ftll in the bldnk

<7 + ﬁf‘z
VA

'36. Raniis 15 years old. She is 3 years younger than Shelly.
Mark is 12 years older than Shelly.
How old is Mark?

14
£230



She gaVe‘S’-‘brdwnles--t_ ga e
How many girls are there rfthe‘re'are 6 ys’?

;_-10_0

1 )

1

What is the missing number ?

39. Dan shared 24 pencils equally with 3.of his friends.

How many pencils did 2 of his friends get?

i3

i
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- 40.

StickDis between Stlc

Stick D is lenger than Stick B:

Stick Bis longer than Stick C.
Which stick is the shortest?

Jim arrangeel 4 sticks.in orde o

/i



SECT!ON c (5 X 4m) -

----~W0rl-r out- these probiems. Show your workmg clear!y;-_: e

41, There are 300 pup.ts inthe hall
. 155 of: them wear. glasses.
How many pupils do not wear glasses‘? :

Statement : . s

42. Mrs Wee bought 9 cookies for tier children.
Each cookie cost $4.
How much money did Mrs Wee spend altogether?

Statement :

17

£33



4'3_.'-_ ‘Max is 144 cm tall.
Heis 18 cm shit er than F‘am
How tal! is Pam?

Statement : -

Lljcy and Gill had $17 altogether.
Gili had $7 more than Lucy.
-How much money did Gill have?

7

{
R

Statement :

18 /‘3‘5'%



'-45. Joan has 10 sweets, ' L
 Her brother has 4 fimes as: many sWeets as- Joan ‘
How many less sweets does Joan have than her brothe:‘?

Statement: -

Sefters: - Ms Rozana :
Ms Geraldine Wong

A
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973, 670, 658, 250    
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9x4 =36
Mrs Wee spent $36.

17 -7=10
10 divides 2 =5
5+7=12

Gill has $12.

g

]

45) 10x4=40
40-10=30
Joan has 30 sweets less than her brother.

g


Tan Hui Min
Text Box
12

Tan Hui Min
Text Box
Stick C

Tan Hui Min
Text Box
300 - 155 = 145
145 pupils do not wear glasses

Tan Hui Min
Text Box
9 x 4 = 36
Mrs Wee spent $36.

Tan Hui Min
Text Box
144 + 18 = 162
Pam is 162 cm tall

Tan Hui Min
Text Box
17 - 7 = 10
10 divides 2 = 5
5 + 7 = 12
Gill has $12.

Tan Hui Min
Text Box
10 x 4 = 40
40 - 10 = 30
Joan has 30 sweets less than her brother.




